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CN—13—2017
FACULTY OF COMMERCE
B.Com. (Second Year) (Third Semester) EXAMINATION
MARCH/APRIL, 2017
COST ACCOUNTING

Paper I
(MCQ & Theory)
(Saturday, 18-3-2017) Time : 2.00 p.m. to 4.00 p.m.
Time—2 Hours Maximum Marks—40
N.B. :— (i) Solve Question No. 1 on OMR sheet during the first half hour.

(1) Question No. 1 and Question No. 2 are compulsory.
(i11) All questions carry equal marks.
(tv) Use of simple calculator is allowed.
() W1 %. 1 ¥ OMR T HaEl. &6 dfgen A9l a¥ do e
() T . 1AM YA F. 2 7 ACENE SR
(i) |E YA GHE O 3T

Gv) Y RIS ITIOIE YA SR,

MCQ
1. Solve Multiple Choice Questions : 10
a'gq?ﬁefr EERERSIECI I
(B) e is the main element of cost of production.
(@) Direct Wages b) Direct Materials
(e) Direct Expenses d) None of these
..................................... %T W q—ﬁsq—q-[a-l- -@ g—g@- uZh 3:“%
(@) A =i (b)  Hae g
(€) ¥ag T (d) It AR

P.T.O.
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( 2) CN—13—2017

(11) The following thing is included in material control :

(@)  Purchase of material

(b)  Receiving and inspecting materials

(c) Preparation of Store Ledger A/c

(d)  All of the above

Al v wele 9e g S

(@)  H T BRE

(b) EE IS HIO G qUEO

(c) TR YUSH Ten daR &)

(d) afetent w
(zii) Wages = Actual Hours Worked X .......cccccovvrrrvrnnnnns .

(@) Rate per unit (b)  Rate per hour
(c) Rate of quantity (d)  Rate per ton
‘ﬂ?ﬁ = T BT T X oo, .
(@ 9fd The (b)  ¥fd = T
()  HET X d) Ufd A R
(V) e is the part of prime cost.
(@) Direct Wages b) Unproductive Wages
(¢) Indirect Wages d) None of these
........................................ g—l- JUH qﬁsq—q-[%n qAT 3:"%-
(@  Fa& T (b) STURH HS
(€) e T (d) aTen! &
U)o is an incentive scheme of wage payment.

(@) Halsey Premium Scheme

(b)  Taylor’s Differential Piece Rate System
(c) Piece Rate System

(d)  Gantt Task and Bonus System
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..................................... E e e e e
(@) Ticd e s
(b) o o wE R gsd
(¢) wHE W Ygdl
d) = ®d g sifeenarer g

(vi)  Stationery, Postage and Insurance are the examples of :

(@) Selling overheads b) Office overheads
(¢)  Production overheads (d)  Distribution overheads
CYH, TA ST FGAT Gy oo = e o
(@  fosht efeera (b) A e
() SRA Afeea (d) oo stfeeaa
(vii) Direct Materials + Direct Wages + Direct Expenses + Works on
Cost = o .
(@) Prime Cost b) Total Cost
(¢) Factory Cost d) Office Cost
T T + T YR + T WH + BT IS = o :
(@ 98 uiemd (b) EEE U
(c) TRt o= d) HEEE IR
(viit)  Cost of Production (+) .......ccceeeveeeneennin. (-) Closing Stock of Finished

Goods = Cost of Goods Sold.

(@) Opening Stock of Raw Materials
(b)  Opening Stock of Work-in-progress
(c) Closing Stock of Raw Materials
(d)  Opening Stock of Final Product

P.T.O.
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SCATEATHT TR (+) o (—) TIR T FoRv ThY = Toend awqan
IR

(@) HeAT Al URYU ThY
() URYY TRImE =

(¢c) HeeAl HIATE Gl hy

(d) Afqq ScaEaT=n YR WhY

(zx)  Supervision is the part of :

(@) Variable expenses b) Standing expenses
(c) Semi-variable expenses (d) ~ None of these
TEYEUMGET TG g oo T 9T ST
(@ ¥ EEIE (b) fer ==
(c)  Ai-wger T (d) IRt AR
T Cost of Machine () .coccooieiveiiininininn.. (=) Scrape Value
(xr)  Depreciation = KR IR O 138 4 tHdmachine in year
(@) Fixed Charges b) Variable Charges
(c) Installation Charges (d) ~ Other Charges
AT T FRTT (+) oo, () 3TeRTS oI
AR~ FIfties T x I o ST
(@  fer == (b) w_Ad T
(c)  SURU T d) TR T
Theory

From the following particulars relating to material X’, prepare Stores Ledger
Account showing the value of materials issues and balance under First In
First Out (FIFO) method : 10

Date Particulars
1-2-2015 Opening Stock 2,000 units at ¥ 11 each.
3-2-2015 Purchased 1,800 units at ¥ 11.50 each.
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7-2-2015

11-2-2015
13-2-2015
15-2-2015
17-2-2015
19-2-2015
25-2-2015

( 5) CN—13—2017
Issued to Job No. 37, 2,400 units.

Purchased 1,600 units at ¥ 12 each.

Purchased 600 units at ¥ 12.80 each.

Issued 800 units to Job No., 41.

Issued 1,200 units to Job No., 47.

Purchased 400 units at ¥ 13 each.

Issued 1,200 units to Job No., 50.

ARl T S weld quiTaeEd i TR St Rieee 9l qed wUd
‘Gom SR Yo TRiEA’ A USd U §UE YOSl TR A

feien
1-2-2015
3-2-2015
7-2-2015
11-2-2015
13-2-2015
15-2-2015
17-2-2015
19-2-2015
25-2-2015

quRTA
YRYT @hY 2,000 ThHeh Ufd The T 11
TR 1,800 Theh Wfd Theh 2 11.50.
wE F. 37 FHiET 2,400 Theh.
TWE 1,600 Theh Ufd Teheh T 12.
TR 600 Theh UG Thah T 12.80.
FE A 41 @ fREE 800 .
FE A 47 o FREA 1,200 T,
ERE 400 The Ffd Theh T 13.
%@ 4. 50 @ FFET 1,200 Theh,

Calculate total monthly remuneration of three workers A, B and C from the

following data : 10

(1) Standard production per month per worker — 1,000 units.

Actual production during the month :

A — 850 units, B — 750 units and C — 950 units.

(2) Piece work rate 10 paise per unit (actual production).

P.T.O.
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( 6 ) CN—13—2017
3) Additional production bonus is Rs. 10 for each percentage of actual

production exceeding 80% actual production over standard. (e.g. 79%
NIL, 80% NIL, 81% Rs. 10, 82% Rs. 20 and so on).

(4) Dearness pay fixed : Rs. 50 per month.

@eitel Afgdiasd dF s ‘31, ‘9’ g ‘e’ = AETde TR fHeskd el
(1) Y% AR Godeh Wigard Jod et — 1,000 .

Aigardial Jed8l Scaed

‘31" — 850 Tk, ‘9’ — 750 Teheh M1 ‘&' — 950 Weheh.
(2) HEFG R U THE 10 T (T SceA).

(8)  80% THTITYL SII=AT Y&l ScUeTel SIfdfied Scae" el Udl SRl
10 T SUAIG 3R (3™ 79% Tl al, 80% hTel e, 81% 10 ¥, 82%
20 TYF ATMOT ATHHATO).

4) ferR WM 9w < : 50 T TR
Or

(fenam)
The following particulars are furnished in respect of the material :
1-1-2016 Purchased 400 units @ ¥ 4.50 per unit.
20-1-2016 ~ Purchased 50 units @ ¥ 4.75 per unit.
5-2-2016 Issued 200 units.
10-2-2016 = Purchased 600 units @ T 4.90 per unit.
12-2-2016 ~ Issued 400 units.
2-3-2016 Issued 100 units.
5-3-2016 Issued 200 units.
15-3-2016 ~ Purchased 450 units @ ¥ 5.25 per unit.
20-3-2016  Issued 300 units.
25-3-2016  Purchased 250 units @ ¥ 5.50 per unit.
31-3-2016  Issued 300 units.
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What would be the value of closing stock at the end of period if the material
were issued according to Last In First Out (LIFO) method ?

Tehl WA= derdid @iciiel Aifedl 3ucsd 3T ¢
1-1-2016  ®RIT 400 =1 Gfd T T 4.50 WA
20-1-2016  ®RST 50 T Ufd T T 4.75 FHOL

5-2-2016  fmEA 200 7.

10-2-2016  ®RET 600 1 Gfd T T 4.90 YHTOI.
12-2-2016  fi99 400 .

2-3-2016  TEA 100 .

5-3-2016  fwEA 200 .

15-3-2016 @RS 450 T fd 7 T 5.25 YA
20-3-2016  TEA 300 .

25-3-2016  ®RSI 250 1 Ufd = 3 5.50 AL
31-3-2016  TfEA 300 7.

3T Ha JoId e o1 Uiy AERURRE 9 fiee g, @ Sid| @he o
I Seel w1 Hed 38d ?

The following expenses were incurred annually in respect of a factory having

8 machines of similar nature : 10
3
(@) Lighting of the Factory 800
(1) Supervision 900
(ziz)  Repairs 2,400
@iv) Rent and Rates 4,000

(v) Attendants : Two persons looking eight machines,
paid @ T 60 per month each —

(vi)  Interest paid on loan 2,000
(vii)  Power consumed for the shop at 10 paise per unit 9,600
P.T.O.
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(viit) Depreciation per machine 300
(ix)  Sundry supplies for factory 240
(x) Each machine consumes 10 units of power in an hour.

Calculate Machine Hour Rate, if a machine runs for 1,200 hours in a year.

Tehl HRETT TR TRl 38 I3 o= it T Sl [ THTo]

3

@) FREM foga e 800
Gi) TR 900
Gii) ol 2,400
(v) WIS M ] 4,000
(v)  3EEIY : IS FFER JBREIWE! I FeRil ST M

TR T % 60 T —
i) A A e 2,000
(vii) THETE IR TR YT THE 10 T A 9,600
(viii) UHH FAE  FAHFIAU 300
(x)  HREE foiwmes Td 240

(x) e I Tehl qEGd 10 Teheh Yfod=l a9 hid.

SR Y& I3 Tl guid 1,200 99 HE Hd 0, | I 99 99 L el

Or
(feram)
The following information is given for the year 2015 :
3
Direct Material 2,00,000
Direct Wages 1,50,000
Factory Overheads 90,000
Office and Administrative Overheads 88,000

874918DE4E8BDD56D3ECA4B189294FCC20



WT (9) CN—13—2017
Prepare cost-sheet for 2015.

On the basis of above information, ascertain cost of a job which will required
materials of ¥ 2,000 and wages ¥ 4,000. What should be the quotation price
if a profit 20% on selling price ?

Factory overhead is based on direct wages and office overhead on factory

cost.

el Hifget 2015 I9RN Hoeid TR :

3
g At 2,00,000
T TR 1,50,000
FREME T 90,000
FETE 9 WRIHRa e 88,000

2015 Tu TR f9awor TR &

T Hifedi=a STURIER Wbl it Uy fveid Suaamn e, Sae art
2,000 9 "SI T 4,000 T ARG, fasht fohadier 20% 1 g5 e Ty fefied
qed wifed a0 ?

FREMN AT FAG TR 30 wEicd AT wREM IReFdER ERid
3TTe.

CN—13—2017 9
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